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Name: Date:  / / Score

WORKSHEET-1

Choose the correct options:

1.

A is heavier than B and C is heavier than A. Arrange A, B and C in
the order of their weight.
a.A>B>C Db.A<B<C ¢c¢cC>A>B d.C>B>A

X is mother of two children; P and Q. Which of the following is
necessarily true?

a. P and Q are sisters b. P and Q are brothers

c. P and Q are cousins d. P and Q are siblings

A is older than B and B is older than C. Who is the youngest?
a. A b. B (@ d. can’t say

Rama got less marks than Seema but more marks than Kareena.
Who got the highest marks?
a. Seema b. Kareena c. Rama d. can’t say

If you go to 10 meters left from a point A then come back 4 meters
towards A. How far you are from A now?
a. 10 meters b. 14 meters c. 6 meters d. 4 meters

Distance between a and c is 18 meters and distance between b and ¢
is 5 meters. What is the distance between a and b?

a b C

a. 13 meters b. 5 meters c. 18 meters  d. 23 meters
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10.

If you multiply 23, 24 and 25 then you will get ;
a. An odd number b. An even number
c. Can’t say

Anu attempted 10 questions in a test of 15 questions. Ranu
attempted more questions than Anu. Which of the following can be
the number of questions attempted by Ranu?

a.5 b.7 c.9 d. 11

9&10

Savita, kavita and Anita made three dishes; pasta, pulav &
manchurian but not necessarily in the same order. The
following facts are know:

Savita made manchurian

Kavita doesn’t know how to make pasta.

Who made pulav?
a. Kavita b. Savita c. Anita d. Can’t say
Who made pasta?
a. Kavita b. Savita c. Anita d. Can’t say
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